Pegel Eschenau
Ereignis67, HQ 3
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N-Summe: 70,6
Scheitelabfluss: 106,0
Q Ereignisbeginn: 14,4
Ereignisdauer: 168
Abflussbeiwert: 41
N-Dauer: 4
max. N-intensitat: 25,10
mittl. N-intensitéat: 17,65
Vorfeuchte: mittel
Wetterlage:
Niederschlagsverteilung

EZi3 Peqgel Eschenau
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unker 55,20
a5,2-57,6
57,6-60,0
60,0 - 62,4
62,4 - 64,8
64,8 - 67,2
67,2 -69,6
69,6 - 72,0
72,0-74.4
74,4 - 76,8
76,8-79,2
2-8l6
81,6-84,0
24,0 - 86,4
g6,4 - 55,5
gg,8-91,2
91,2-93,6
93,6 - 96,0
Q5,0 - 93,4

95,4 - 100,38
iiber 100,50

mm

m3/s

m3/s
Std.
%

Tage
mm/Tg
mm/Tg



